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10cm

@1884 cm?

@ 1256 cm?

@® 942 cm?

® 2512 cm?

@ 2198 cm?

)x3.14

U] Hol)= 10 x 10 x 3.14 = 314( cm?)

20 x 3.14 x 20 = 1256( cm?)

314 X 2 + 1256 = 1884( cm?)
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® 10cm @9cm ® 8cm @ 7cm

~&B

® 6cem

(27152 2Hol)
= (ZYo]) x2+ (FHol)olEE

EolE[ et std

10X 10x3.14x2+2x 10 x 3.14 x| |=1193.2
628 + 62.8 x[_|=1193.2

62.8 x| |=565.2

[ ]=9(cm)
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T77-18.84em- 7 |5em

® 150.76cm3 (@)141.3@113 @ 132.66cm?

@ 130.88cm? ® 114.08cm?

il

o] ¥tx]5)=18.84 + 3.14 + 2 = 3(cm)
59 H1l)=3x3x3.14 x5 = 141.3(cm?)
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O @4 @3h @228 GA
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11. o Az E82] 4ol 60.24 cm YU T} o] A/E R wHEo0]A]
L 4715e 2uol= 2 cm? YY7t?

O

5cm

O

@ 79.52 cm? @87.92 cm? ® 92.86 cm?

@ 100.48 cm? ® 121.88cm?

(U] 9F)= (60.24 — 5 x 2) + 4 = 12.56( cm)
(RH Q] BFZ] 5 )= 12.56 + 3.14 + 2 = 2(cm)
(BYlo]) =2x2x3.14x24 1256 X5

2
25.12 + 62.8 = 87.92( cm?)




12. o2 97159 AYolE= 1406.72cm? YUt o] Y759 Hu

NP
8cm
PO N
v
v
@ 6018.44cm? @ 5678.52cm? @ 5024cm?
@4019.2em3 ® 314cm?

rr
WL

B
47159 &5 [ |em 2} 54
8X8x3.14x 2+ 16 x 3.14 x[_| = 1406.72
401.92 +50.24 x| | = 1406.72

50.24 x[ | =1004.8

I:’ = 20(cm)

(27159 Ho]) =8x8x3.14x20
= 4019.2(cm?)
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@D 6x6x3.14 x 6 = 678.24( cm?)

@ 4x4x3.14x15 = 753.6( cm?)

® 7x7TxT7=2343(cm?)

@ 3 mAjE] o] Zol& | Jem =t 51

[ Ix[ Jx6=216,[ |x[ ]=36,] ]=6(cm)

b Huls 6 x 6 x 6 = 216( cm?) YUt}

® @Hol ¥tz 50] 15.7 + 3.14 + 2 = 2.5(cm)

ojB® Hul= 25x25x3.14 x 6 = 117.75( cm?) Y},
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D)258cm? @ 426cm? ® 684cm?
@ 942cm® ® 1200cm?
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(AgmA 2] 2u)- (A E2] Zo]7t sem 9 97159
=10x10x12-5x5x3.14x 12

= 1200 — 942

= 258(cm?)
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15. o= BHEY 0), HE 24 LS Ko 5t 1 91 AFe
ol REol A= 213dA1e] 2ol 2 H em® QY7 (F, 9F
&2 3 02 ALy

U‘s-

@ 48cm? @ 69cm? 3®) 72 cm?

@ 100 cm? ® 120cm?

B

HHER O), WX A v Hoez 130 P2 AR
C zo] wtE X i o] Holt Zh&1]t}

E, AR 2o o He| Yo|z ZonE B cmo] HiE
= 9o Wolo A& shd FUth.

Fhe] Mol Yol 2x 2 x 3 x 4 = 48(cm?)

)] HE] Yol 5x2x 3 x4 = 120(cm?) ©|EE

Phet Lhel s o] ZEelo] 2 72em?® YYH.




